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Missing Tenths

Find the missing decimals.

1.23 x =

4.55 x =

9.68 x =

6.39 x =

2.73 x =

8.46 x =

7.53 x =

2.84 x =

2.55 x =

5.67 x =

0.44 x =

2.42 x =

7.55 x =

8.84 x =

8.82 x =

4.59 x =

6.44 x =

3.69 x =

1.83 x =

3.24 x =

25 x =

3.55 x =
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Answers

Find the missing decimals.

1.23 0.4x =

4.55 0.9x =

9.68 1.2x =

6.39 0.7x =

2.73 0.9x =

8.46 1.4x =

7.53 2.5x =

2.84 0.7x =

2.55 0.5x =

5.67 0.8x =

0.44 0.1x =

2.42 1.2x =

7.55 1.5x =

8.84 2.2x =

8.82 4.4x =

4.59 0.5x =

6.44 1.6x =

3.69 0.4x =

1.83 0.6x =

3.24 0.8x =

25 0.4x =

3.55 0.7x =


